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* 1 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(W*4u®+.--+u+t+1)

(i) Arc colorings

w- (1)

1
ag = 0
1
a7 = _u2
—u
a1 = \ud+u
—u3
a3 = \uP+ud+u
—ub —ut 41
ag = \ud + 2ub + 2u?
ud
a1 = \ud +u
—u! — 209 — 207 —u?
g = \ —yM — 3 — 4" — WP+ ud +u
w4+ Tu 4 — 20+ 1
ag = u30+8u28+-~-+4u6—u2
—utT — 120 4 . — 2000 — 8u7
as = u?® +13u 4 —2u8 +u
—ul7 — 4t — 7t — 4yt 4+ 300 + 607 + 2u® —
@10 = \ !9 + 507 + 12025 + 15683 + 9t —w® — 4w — 20 +ud +u
—ul7 — 4t — 7t — 40t + 300 + 607 + 20 —
a0 = \u' + 5ul” 4+ 126! + 1503 + 9ut — w® — 40" —2uP + Ut +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®? — 4u® + .- + 4u? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, o e+ L
C2 Pt 42907 4 — w1
3 ubt — U o —ATu + 5
C4,C5,Co ut—uP e —ut 1
cr, i W —uP 4 tut 1
c8 w4 1lu+ 1
C10 u?t + 116 + - 4 1951y + 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C6 Pt 293 4+ —y 1
Co Ty Byt 1
€3 y*t —3y°% + - + 631y + 25
C4,Cs5,Cy y54+49y53+--~—y+1
€7, C11 Yot — 43y 4+ — 9Ty + 1
cs Y4 5y 49y 41
c10 y° 4+ 21952 + -+ + 184179y + 34969




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.526458 4 0.8501491 1.84506 — 5.207301 6.07211 + 8.442551
u = —0.526458 — 0.8501491 1.84506 + 5.207301 6.07211 — 8.442551
u=0.063963 4 0.9694731 —2.01199 + 1.572411 | —2.93647 —4.709107
u= 0.063963 — 0.9694731 —2.01199 — 1.572411 | —2.93647 +4.709101
u = 0.542026 4 0.8762101 —3.38874 + 8.607561 0.88746 — 8.624891
u = 0.542026 — 0.8762101 —3.38874 — 8.607561 0.88746 + 8.624891
u = —0.068795 + 1.0435701 —7.55344 — 4.333271 | —6.71453 4 3.786971
u = —0.068795 — 1.0435701 —7.55344 + 4.333271 | —6.71453 — 3.786971
u = —0.404606 4 0.9652501 —5.19453 — 0.851641 | —2.69916 + 2.791941
u = —0.404606 — 0.9652501 —5.19453 + 0.851641 | —2.69916 — 2.791941
u=0.459955 + 0.7985371 0.23556 + 1.926321 2.54464 — 3.588521
u=0.459955 — 0.7985371 0.23556 — 1.926321 2.54464 + 3.588521
u= 0.514528 4- 0.7586131 0.15792 + 2.105541 4.75076 — 4.162651
U 0.514528 — 0.7586131 0.15792 — 2.105541 4.75076 + 4.162651
u = —0.521169 + 0.6616791 2.37968 4 0.931131 8.32580 — 1.372321
u = —0.521169 — 0.6616791 2.37968 — 0.931131 8.32580 4 1.372321
u = 0.555404 + 0.6189831 —2.66786 — 4.198411 2.85328 4-2.263131
u = 0.555404 — 0.6189831 —2.66786 + 4.198411 2.85328 — 2.263131
u = —0.812471 4 0.1378501 —6.92259 +9.009107 | —0.82614 — 5.726771
uw = —0.812471 — 0.1378501 —6.92259 — 9.009107 | —0.82614 + 5.726771
u = —0.409939 + 1.1108107 —5.37080 — 0.772601 0

u = —0.409939 — 1.1108101 —5.37080 + 0.772601 0

u = 0.803336 4 0.0746671 —8.69949 + 0.218997 | —3.12382 — 0.078661
U 0.803336 — 0.0746671 —8.69949 — 0.218997 | —3.12382 4 0.078661
u = 0.793006 + 0.1357441 —1.35714 — 5.525691 3.45218 4 5.825821
u = 0.793006 — 0.1357441 —1.35714 + 5.525691 3.45218 — 5.825821
u = 0.465718 4 1.1321401 —1.40488 + 3.878361 0

u = 0.465718 — 1.1321401 —1.40488 — 3.878361 0

u = —0.768273 + 0.1054021 —2.42732 +1.736411 0.699777 + 0.0088601
u = —0.768273 — 0.1054021 —2.42732 — 1.736411 0.699777 — 0.0088601




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= —0.492150 + 1.1523401 —4.72150 — 7.143151 0
= —0.492150 — 1.1523407 —4.72150 + 7.143151 0
= —0.403427 + 1.1966701 —6.22025 — 2.290951 0
= —0.403427 — 1.1966701 —6.22025 4 2.290951 0
= 0.382721 +1.2041801 —5.34368 — 1.561371 0
= 0.382721 — 1.2041807 —5.34368 4 1.561371 0
= —0.378306 + 1.2166501 —11.00630 + 4.987431 0
= —0.378306 — 1.2166501 —11.00630 — 4.987431 0
= 0.415619 4 1.2156801 —12.53210 4 4.463141 0
= 0.415619 — 1.2156801 —12.53210 — 4.463141 0
= —0.494467 4 1.1873201 —5.57287 — 6.389431 0
= —0.494467 — 1.1873207 —5.57287 4 6.389431 0

—0.688011 4 0.1727521

—1.90661 4+ 2.656291

2.99397 — 3.575761

—0.688011 — 0.1727521

—1.90661 — 2.656291

2.99397 + 3.575761

= 0.508429 + 1.1906501 —4.45647 4 10.317401 0
= 0.508429 — 1.1906501 —4.45647 — 10.317401 0
= 0.486868 + 1.2043101 —12.02490 4 4.471531 0
= 0.486868 — 1.2043101 —12.02490 — 4.471531 0
= —0.513281 + 1.1970901 —10.0524 — 13.87221 0
= —0.513281 — 1.1970901 —10.0524 + 13.87221 0

= —0.553091 + 0.3754071

—3.44062 — 3.028211

2.33743 + 2.904101

—0.553091 — 0.3754071

—3.44062 4 3.028211

2.33743 — 2.904101

0.542871 + 0.2226121

1.223040 + 0.207996.1

8.65252 — 1.107681

Lle|g|e|e|e ||t e |g|e|g|e|g|g|g|ge|g|e|ge|ge|g|ge|:

0.542871 — 0.2226121

1.223040 — 0.2079961

8.65252 + 1.107681




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢e W4 uBP 41
C2 Pt 2905 4 w1
c3 bt — TP o —ATu + 5
4, Cs5, Co 54 % 4L 41
C7,C11 ut — w4 fut 1
s Wt 4 1lu L
c10 u* + 116 + - + 1951w + 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, G Y4297 4y 1
€2 Yo =Ty =By +1
Cs Yot — 3y™ + - 4+ 631y + 25
C4, 5, Cy Y49y e —y 1
cr,c11 Yot — A3y o - 9Ty + 1
(673 y54+5y53+_49y+1
54 53
€10 Yo"+ 21y°° + - - + 184179y + 34969




